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Physical Education

Paper 1I
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Time Allowed : 75 Minutes]
Note : This Paper contains Fifty (50) multiple choice questions, each question

[Maximum Marks : 100

carrying Two (2) marks. Attempt All questions.
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Which of the following countries has
influenced the development of
Physical Education in the 20th

Century ?

(A) United Kingdom
(B) Denmark

(C) U.S.A.

(D) Germany

Presently the primary objective of
Physical Education 1is the

development of :
(A) Motor fitness
(B) Health related fitness

(C) Character

(D) Personality
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The process by which a child
acquires new responses or modifies

old responses is called.................. .
(A) Education

(B) Learning

(C) Conditioning

(D) Adaptation

The present President of the
International Olympic Committee

ISuieerreenreennees .

(A) Suresh Kalmadi

(B) Juan Antonio Samaranch
(C) Avery Brundage

(D) Jacques Rogge

Physical Education in the School
Curriculum in Maharashtra State

IS @ueevereeenneeens .

(A) Core subject
(B) Elective subject
(C) Optional subject

(D) Compulsory subject
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The muscle tissue is distinguished

from other tissues by the ability to :
(A) Perform at a high speed
(B) Engage in sustained activity

(C) Contract and perform mechanical

work
(D) Perform at least resistance

How many times more energy is
released during oxidative process
than released during anaerobic

glycolysis ?

(A) 15 times
(B) 18 times
(C) 21 times
(D) 12 times

With which of the following the lung

volumes does not vary ?
(A) Age

(B) Gender

(C) Body size

(D) Posture
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10.

11.

12.

The term ergogenic aid describes
substances or procedures that

improve :

(A) Physical work capacity
(B) Physiologic function
(C) Athletic performance
(D) All of the above

If an athlete exposes a just injured
limb to heat, he will :

(A) Aggravate its swelling

(B) Worsen its condition

(C) Only delay its recovery

(D) Render it liable to infection

Turning of the foot so that the sole

faces outward is a movement called :
(A) Extension

(B) Protraction

(C) Aversion

(D) Abduction

Levers in the body produce force
70 RO .

(A) Create movement
(B) Overcome resistance
(C) Accelerate an object’s velocity

(D) Catapult an object into space
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13.

14.

15.

A sprinter in ‘SET” position, having
centre of gravity outside the based

support has :

(A) Stable position

(B) An unstable position
(C) A semi-stable position
(D) A neutral position

In the process of motor skill-
improvement the speed of joint

actions is controlled by :
(A) Nervous system

(B) Muscular system
(C) Skeletal system

(D) Respiratory system

The range of vertical displacement

of the body in running is :
(A) greater than in walking
(B) lesser than in walking
(C) same as in walking

(D) equal as in walking
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16.

17.

18.

Associative theories of learning are

based on the premise of................... .
(A) Individual environment bond
(B) Stimulus and response bond

(C) Brain-Mind bond

(D) Sensory-Perception process

bond

What dimensions of personality do,
complex thought processes, rational

thinking and creativity, reflect :
(A) Social Dimension

(B) Mental Dimension

(C) Intellectual Dimension

(D) Emotional Dimensions

Which of the following is not a key
factor in the development of group

dynamics ?

(A) Forming
(B) Storming
(C) Confirming

(D) Performing

16.

17.

18.

NOV-71211/11

{.i@i‘i—,'o“q Sqq'(n‘!:“ g[ 3:”%., ............. .

(A) IR o SIAER0 I GaY
(B) =deh, Gfqde ded
(C) Hg a HAMN HaY

(D) TSl 9 @i ey

goreiterar, ga1 foem, gandre foem =1
gfshall SeriTHoT=Al ShIUCAT STRTHHS
fogA I ?

(A) IS A&

(B) A& ™

(C) difgsw @M

(D) wafeh ST

‘grErear TdiaEd=ar’ fawrarEed

TTefchoell TGl e IOl ?
(A) AfHd
(B) S

(C) gffeadt
(D) foareq




19.

20.

21.

22.

Which of the following provides

comprehensive learning experiences ?
(A) Syllabus

(B) Course content

(C) Curriculum

(D) Course material

In curriculum development. What is

resisted the most from all corners ?
(A) Innovation

(B) Experimentation

(C) Research

(D) Change

Health is basically a responsibility
of the :

(A) State

(B) Parents
(C) Individual
(D) Community

Which of the following conditions is
life threatening ?

(A) Heat Radiation
(B) Heat Exhaustion
(C) Heat Stroke

(D) Heat Loss
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23.

24.

25.

Our hands generally get

contaminated with................... .
(A) Bacteria

(B) Soil and dirt

(C) Oil

(D) Chemicals

Who of the following need the most

recreation ?

(A) Infants and children

(B) Girls and women

(C) Labourers and working people
(D) Athletes and players

Which of the following sports
activities cannot be categorized as

anaerobic :

(A) Sprinting

(B) Squats and bench press

repetition

(C) Running a Marathon

(D) Free style swimming for a

beginner

23.

24.

25.
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26.

27.

28.

For maximizing power production
which of the following training

exercises is useful ?
(A) Plyometric exercise
(B) Weight training
(C) Resistance training
(D) Iso-kinetic training

Apart from physical and skill
training. An athletes efforts to
prepare for competition will become
zero if due emphasis is not placed

on :

(A) Adjustment training

(B) Psychological training

(C) Socialization

(D) Inter-personal relationship

Isometric training is performed

against :

(A) A movable object
(B) An inmovable object
(C) A static object

(D) A dynamic object
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28.
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29.

30.

31.

32.

“Asking of a good question”, falls
under the definition of :

(A) Science
(B) Experiment
(C) Research
(D) Search

To solve problems that have direct
bearing on the context in which
research is to be conducted, we use :

(A) Applied Research

(B) Fundamental Research
(C) Qualitative Research
(D) Action Research

The infinite number of individuals
or items which serve as sources of
data in a study technically are
called :

(A) Sample
(B) Population
(C) Statistics
(D) Data

If we deduct the lowest score from
the highest score of a distribution
we would get the :

(A) Variance

(B) Range

(C) Average

(D) Standard deviation
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32.

NOV-71211/11
‘T NI W9 fa=mol’ ® Sy e
4 ?
(A) M
(B) I
(C) weleA
(D) Wy
qeNeA &R ey oTgeiedl HWINEH
A Iohel INYUIAIE! & 9Gd ardielt
ST e

(A) SUAIfSd gene
(B) Hord GeNeA
(C) TUcHer e
(D) et HnEH

QTR ST 37T Fat fohal ST

K] S € Hid TUH ATl SITdrd ol
qifsh =M 3 WUEM :

(A) e

(B) SHEEA

(C) wifeasht

(D) ke

HIvrE faaomeia Ssaaq SRy

I 37k ST hol STHAN § U< oI :

(A) J=e=
(B) fowm
(C) wuEd
(D) g fo=e™

10



NOV-71211/11

33. Which of the following situations | 33, ‘vi=1 WgddY' Wiehads®! HIvTeA
reflects zero correlation ? Yfifrordra foed 7
(A) Academic grade vs. Intelligence A) Fgif Te/ag
(B) Butterfly stroke vs. 1.Q. - "

(B) 9I%IT Ioh/JGIHT
(C) Hours of Study vs. Examination
SUCeRsS (C) Tshed I8 SAATE/Tardied a9
(D) Training vs. Performance (D) wfereqor/shredereen

34. Area covered under +1c and —16in | 34. JHMN 999 T%MY +1c 3T —1o
a Normal Probability curve is : Iy I A SFRA
(A) 34.13% (A) 34.13%

(B) 95% (B) 95%
(C) 68.26% (C) 68.26%
(D) 27.26% (D) 27.26%

35. A devise or technique used to | 35. 3= Hcdl IR Uded, fhan I
measure the performance, skill level, Tcfed! HISTUATIS! S T8 ATaRe] S el
or knowledge of a learner is called : Ul
(A) Implement (A) TSR
(B) Tool (B) e
(C) Observation (C) Frtem
(D) Measurement (D) l

36. A high amount of lactic acid present | 36. THHEA W JHUMG dfdes ifas
in the blood reflects..................... : A 7 RO gdr
(A) Fatigue (A) &hdT
(B) Restlessness (B) STEaeed
(C) Discomfort (C€)

(D) Inertia (D) Ssd
11 [P.T.O.



37.

38.

39.

40.

Name the instrument used to
measure sitting height.................. .

(A) Goniometer
(B) Stadiometer
(C) Spirometer
(D) Sphygnomanometer

The apex body controlling and
directing amateur sports in India
ISuueereerrernreneens .

(A) Organisation of Indian Sports
(B) All India Council of Sports
(C) Indian Olympic Association

(D) Association of Indian Sports
Federations

The Master teachers in the World
are known for their.................... )

(A) Fund of knowledge

(B) Wisdom and intelligence

(C) Methodology of Teaching
(D) Personality and character

In the total scheme of physical
education, the supervisor must give
highest priority to.........cc......... .

(A) Laid down standards
(B) Duties assigned to them

(C) Human relations

(D) Objectives of supervision

37.

38.

39.

40.
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Q. No. 41, 42 and 43 :

Below are given two statements.

Select the correct answer from the

choice given below.

NOV-71211/11

Uy e, 41, 42 37T 43 :

Tl 9 fagm foofl emed. @reid

SIS ST W L.

41. 1. “Physical Education should | 41. I. HaH YIeERE IRIRE f¥reom
prepare the child for Supreme faenet TOR S Uifes.
Effort”. .
II. 3miRes Rreonga farneat=n smife,
II. “Physical Education ensures a FNF, ARG § GRS o
child’s physical, motor, mental of .
and social development”.
(A) 19 I <& a1 ey
(A) Both I and II are correct
(B) I is correct and II is wrong B) T a I =%
(C) II is correct and I is wrong (C) I =R 9 T3
(D) Both I and II are wrong O 3= 191 I
42. 1. “A balanced diet generally | 42. 1. ¥HHdlA ARRMYA T @S
provides adequate mineral feard.
intake”. N o -
II. ©are T srdl ®AGEr gl
II. “Athletes take diet supplements .
TEEY g0 .
to replenish minerals”.
(A) I is correct and II is wrong A 1 I T e
(B) II is correct and I is wrong (B) II IR SIeR ST 1 o1t <k 3718
(C) T and II are correct (C) I o & II a1 Tl aRIeR
(D) I and II are wrong D) I 9 I 9 <=l oI
13 [P.T.O.



43.

44.

I. “De Coubertin : the father of
Modern Olympic Games - was
against women’s participation

in sports.

II. “So women have not defied

ancient Olympic tradition”.
(A)
(B)

I is correct and II is wrong
IT is correct and I is wrong
(C) T and II are correct

(D) T and II are wrong

Match List I with List IT and select

the correct answer using the code

given below :

List I List IT
(a) Testing anxiety (1) Spielberger
(b) Criteria of test (2) BMI
evaluation
(¢) Girth measurement (3) Objectivity

(d) Body composition (4) Gaulick tape
Code :
@ b ©© @@
a @ & @ @O
B O B @ @
©c O @ @ O
@ O B3 @ O

43.

44.
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I. S-gpacH-snyfies sifafoss
fuare shieHed Afgar=a GevrT=A1
foes 2.
e Fedt e S TGS

(aV

3ol el TRl

II.

A I R & I I
B) I sWR & I 9%
(C) I 91 s

O I I 9%

IS AR 19 11 9YA 919 sire! e
arell fooiean W gEmyE Ira 9™
ferer -

RICUS! T 1

(@) fo@ wiem (1) wfersriy
(b) HEEl oA Y (2) St TH. A
(c) *RT= W (3) orpfTea
(@) TR "= (4) Tifersw 2
=

(@ B © (@
Aa @ & @ O
B @O G @ @
© O @ @ G
@ O G @2 @
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45. Match List I with List IT and select

the correct answer using the code

given below :

(a)

()

(c)

(d)

List I

Random sampling (1)

Cluster sampling (2)

Purposive sampling (3)

Stratified sampling (4)

Code :

(A)

(B)

(®))

(D)

@ b)) ()
1 @ 3
2 G @
3 @ @
3 @O @

List II

Non-overlapping

subsamples

Unit bunching

Lots drawing

‘Intact’ classes

(d)

(4)

(4)

(1)

(2)

NOV-71211/11

n o

45. 9= e 19 11 7eA A Siet fHaes

feoiea S gy arg 9o

@]
feren -

T 1
(@) =giese s
) T =
(© g e
(&)  wdE =
e

(@ (®)

Aa @O @
B @ O
< B @
M B @

(1)

(2)

(3)

(4)

(c)

(3)

(1)

(4)

(4)

st 11

TRER 5 SAIUR YA

¥dh T

Al FeA

‘g’ ot

(d)

(4)

(4)

(1)
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46. Match List I with List IT and select

the correct answer using the code

given below :

(a)

®)

(c)

List I

Tidal volume

Vital capacity

Expiratory

Reserve

(D

(2)

3)

(d) Residual volume (4)
Code :

@ ) (©
@a @O @ @G
B @ @O @
© & @ @
M @ B (@

List II

Volume of gas left
in the lungs after a

maximal expiration

Volume of gas that
can be expired at
the end of a tidal

expiration

Maximum amount
of gas that can be
inspired at the end

of a tidal expiration

The volume of gas
inspired or expired
during an unforced

respiratory cycle

(d)
(4)
(3)
(4)
(1)
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46. It ek 19 I 7 Irg Siiet Haed

Trell fooiean W gEmyE Ira 9™

faer .
aa I

(@) TFESA aTH

b) =EEa wHufEE

(c) THETRE figrd

(d) Igsgs@ afegm

e

(@ ()
A @O @
B @ @
< 3 @
D @ O3

(D

(2)

(3)

(4)

(c)
(3)
(2)
(1)
(2)

Iret 11
SIESICE RS RSE2= IR L LTS
RFRYT fgerl S

TS SAEMT

I IS B

TS IATHM
SisicEsisicPl
A ST ST

SR 9 AEd e
TIEE ThMES YO 9

Iesadl wHfte A

(d)
(4)
(3)
(4)
(1)
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47. Match List I with List I and select | 47. 3! shHish I 9 1T He[ A1y Sirel faes
the correct answer using the code arell fooiean W gEmyE Irg 9ai™
given below : ferer -

List I List II et 1 arer 11
(@) Walking (1) Translatory motion (@) =rTe (1) TR Tt
(b) Swinging (2) Reciprocative motion (®) FreE A0 (2) wEfiq
(¢) Jumping Jacks (3) Oscillatory motion () iff st (3) <o T
(d) Dribbling (4) General motion d) fefem (4) wdgmEEE T
Code : I g

@ &) © @ @ &) ©© @

Aa O @ 6 @ A O @ 6 @
B @O & @ @ @ @O G @ (@
< O @ 3 @ c O @ B (@
M @ @O @ O ® @ O @ O

17 [P.T.O.



48. Match List I with List IT and select

the correct answer using the code

given below :
List I
(a) Sit ups

(bent knee)

(b) 50 yds dash

(¢) Pull ups

(D

(2)

3)

(d) 9 min. run walk (4)

Code

@ ()
@A @ @
B) 2 @
© @ O
D @2 @

(c)
(3)
(3)
(1)
(1)

List II
Muscular strength

(Dynamic) and
Muscular Endurance
of Arms and

shoulder

Muscular strength
and Endurance

(Trunk)

Cardio vascular

Endurance

Speed of Lower

extremities

(d)
(4)
(1)
(4)
(3)

NOV-71211/11

N o

48. It Ak 19 I 7 Irg Siiet Haed
Trell fooiean W gEmyE Ira 9™
ferer -

et I RICUl |

() fae st (ST ) (1) A= kg (FTdehe)
3ToT TR SHRRY-
BT, W

(b) 50 AR FR AW (2) TR qHS T

THSRUON (¥S)

(¢) 9@ | (3) TEAME! THIRIUM

d) 9 fafe vz, (4) TRRT= ST

HTeT0] T

(AN

(@ B © @

@ @ O & @

B 2 @ & @

<o @ & O @

O @ @ O O

18



49. Match List I with List IT and select

the correct answer using the code

given below :

List I

(@) Resting heart (1)
rate
(b) Blood pressure (2)
(¢) Rate of 3
Respiration
(d Basal Metabolic (4)
index
Code :
@ (b)) ()
Aa @ @ @
B @ G @
© @ @O 3
M @ G @

List II

12-16 times/min.

70-80 beats/min.

22-25 kg/m?

120-80 mm kg

(d)

(3)

(1)

(4)

(4)

NOV-71211/11

n o

49. I=T e 19 11 7eA A Siet Haes

feoiea S gy arg 9o

eIl
IREEIEE

a1
(@ fagdt @ (D
(b) W TE (2)
(c) ToHATEl (3)
(d) 9 Hdifas T (4)

e

(@ (B (e
Aa 2 @ @
B 2 3 @
©c @ @O G
D 2 3 @

et 11

12-16 daa1/fA.

70-80 <reh/fiA.

22-25 fmar./ma?

120-80 faet f&.7.

(d)

(3)

(1)

(4)

(4)
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50. Match List I with List IT and select

the correct answer using the code

given below :

List I

(a) Physical Activity (1)

(b) Physical Fitness (2)

(¢) Physical Health

(d) Exercise

Code
(@)
A (@)
B) (2
© (@)
D)  (2)

)
(3)
(1)
(1)
(3)

3)

(4)

(c)
(1)
(3)
(4)
(4)

List II
Components of

fitness —physical

activity

Contraction of
skeletal muscle—

energy expenditure

Subset of physical

activity improving
and maintaining
fitness

Human condition—

absence of disease

(d)
(4)
(4)
(3)
(1)
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